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Lesson 34

1. An arithmetic sequence s a linear
pattern. The graph of an arithmeti
sequence is a series of poins that
along  line that can be described by
linear function. 3. Answers may vary.
Semple: A recursive formula is good to
use i you want to describe the pattern
of a sequence or if you want to find
the next term in a sequence and you
know the previous term. 5. yes
7.3p=3p 1 +4anda; =81
9.3,=5m 555 11. Answers may vary.
Semple: The domain of an arithmetic
sequence is natural numbers. The
domain of a linear function is all real
numbers. 13. Explicit formula, you can
use the explicit formula to find the
Velue of the term based on the term
number. To use the explicit formula,
you would need only to substitute 500
for n. If you used a recursive formula to
find the value of the term aseg When
only knowing a1, then you would
have to add the common difference
499 times; Yes, if you knew 2,05, then
all you need to do to find asgg using

a recursive formula is substitute for
the value of 2. 15. No; Answers
may vary. Sample: Term numbers are
positive integers. Because 2.5 is not

2 positive integer, it is not & term
number in an arithmetic sequence.
Substituting this value into an explicit
formula will not give you a term in the
sequence. 17.yes; 14 19.n0

21.n0 23.yes;7 253,23, 1+7
anday=12a,=5+7n
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from the left 45. 5,500; the level
completed; a,,= 2,250 +3,250n;
a,=a,_;+3250and a; = 5,500 47





